5 %=

FEY s TR ERRFE FIGE SR

=112 # 08 7 30 p (m£p)
TR I ERPPEEFIHEEFEL FEI Y 22)

~7 A A 2 X
TFZE =4

=112 & 09 ¥ 11~15 p
FYRELFE P € AR P € R E 8 FHE)

=112 # 09 ' 28 p
SHMNPEFE R L@ LAFHERFED

., | F112 %10 % 20 7 (%?—:'zf;{f;:—;%)
TH R T F AR [RP]E A gk BRI E R AR

=112 & 11 % 10 p (- ¥ - %)
FHTET FAEF L [EE) T A s SR A §)

=112 # 12 * 08 P (%= &% 14— iF)

XZ—H%E%E{‘B 15 B T il i s A g o2 2N S 2 sm JE 3 é .
THITEHET T HEIFTE ) U Ay FREF R P A
£ )| - B R tx_ 3
g |CH2E127 297 (4_ hoit - 1)

S A E T A (31 [T A SR B P KA

=113 £ 01 * OS5 P (§==&% 58 %)
RN A EZEE L

=113 £ 02" 16 p (BE%- )
RPN AFFITE B (BT RRP T R ER)

=113 # 02 * 23 P (= 7 R&)
RPN ESEF =4

=113 £ 03 % 05 P (=" %- i) ()

PEL® e wpuams
" S o % =113 # 03 ? 22 p (I )22‘00/04 7 03 p(=)22:00 (% =)
BRF T |creppmntirg 18,/ 20 ame o i)

=113 £ 04 * 09 P (=) (&%)

AR 3 =351 B R o) 7 R

o 4k B @113 £04 % 10pP(=2)17:30,704 " 18 P (= )22:00 (¥ =)
%-\-P = 'A&k“‘?;%d‘%/ ;3\:;




